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2. Aﬂéwer.any‘- five out of eight questions.
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paper.
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- (a) When bargammg costs are high, the rule for

ass1gn1ng 11ab111ty matters for efﬁclency Do you

_agree? .E‘xplle_un usmg an approprlate example.

(b) Explbaln the Kaldor chks crlterloh for evaluating
a social - change in Wthh thefe are gainers and .
lose'rs. Does it eneoineass eonsensual exchange? |
Hc;w important ’is»co_nseﬁt' as tl.lebasis for the

efficiency of competitive markets? (7.5+17.5)
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2. (a) A farmer, in response to a magazine advertisement

 for “a sure means to kill grasshoppers” mails

Rs. 10_0 é}_ld receives two Wood¢n blocks by return
post'w‘-ith‘_ the instructionsl, “Place grasshopper on
Block A énd "s‘rn'asﬁ w1th Block .B.” The buyer
asks th_e ;:durt to 1;e;1uire the seller to return the

Rs. 100 and to pay Rs. 1000 in punitive damages.

Assume that the courts téke guidance from bargain
theory in deciding this case; Are all the elements
of a legally enforceable promise present in this

transaction? Justify.

P.T.O.
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(b) What constitutes a fair bargain in bargain theory?
Are courts restricted to enforcing only fair

bargains? Discuss.

~(¢) Bargain theory is underinclusive in not arguiﬁg for
the enforceability of ‘promises that both parties

trﬁly‘vv‘ant enforced.- Do you agree? (5+5+5)
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3. (a) In the provisioning of a good or service, the
government has a choice whether to provide the
good or service itself or to contract with a private
providcr.»Exuminc this statement using the
incomplete contracting approach. Explain the
trade-offs invchd with the help of a suitable

example,

(b) Suppose that the value of a contract to a buyer,
V, is o function of her investment in nonsalvageable

relinnce, R, Specifically, the buyer can invest

PTO
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cither Rs. 2,000 or Rs. 4,000 with the resulting

impact on V as follows :

R A
Rs. 2,000 ‘Rs. 8,000
Rs. 4,000 Rs. 11,000

The contract price, payable on performance, is

Rs. 1,500.

(1) Assume 1n1t1a11y “that performance of the
contract w111 occur ‘with certalnty What
level of re11ance maxmmzes the buyer s net

return from the contract?

(i) Now suppose that the buyer anticipates a
breach of the contract with probability 0.5,
in which case her reliance investment is
lost (though she does not have to pay the
price). What choice of reliance maximizes

the buyer’s, expected return in this case

(ignoring damages)?
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(ii)) What level of reliance will the buyer
choose under unlimited expectation
damages? How does your answer compare

~ 1o your answers in (a) and (b)? Explain.
(8+7)
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(a) A factory emits smoke that causes damage to 10
nearby res1dents who hang out their laundry to
dry The damages amount to $30 each. Suppose

two forms of abatement are p0551ble

1) T'he factory can install a\‘smok_e' screen at a

cost of $200, or _
oy T g

2) Each resident can be provided with an electric

dryer at a cost o"f $25 each. =
(i) What is the optimal solution?

(ii) Would a Pigovian tax imposed on the

~ factory achieve this solution?

P.T.O.
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(iii) What would be the likely outcome if instead

{
the factory had the right to emit the gmoke?

(iv) Under what conditions would the efficient

condition arise in case (¢)?

(b) What could be the. impediment to Coasian

bargaining even when the transactlon costs are
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5. Land pooling mechanism is a better alternative to the
traditional mechanism of land transfer, Do you agree?
Explain. What is the Indian experience with the land

pooling mechanism of land transfer? (15)
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How does a rule of strict liability compare with a
negligence rule in terms of care taken by the injurer
under unilateral care? What are the factors that affect

the choice between the two rules in a unilateral care

framework? . = e T | - (15)

ma}w#mm%ﬁmﬁwm
%ﬁm%ﬁﬁm%?%aﬁ?%m%'&ﬁm

mmmaam%mmﬁmm
27 Ere g

(a) Consider the following setting in the settlement-
trial decxslon let P denote the plalntlffs

assessment of hcr probability of wmmng at trial,
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and let P, denote the defendant’s assessment of

this same prob:
p ability. (In other words, P, is the

defendant § assessment of his probability of losing

at tr1a1 ) Also, let J equal the monetary judgment

that the plaintiff will recover if she wins (an amount

‘that both p'artiesagree on), and let C, and D, be

the costs of trial for the plaintiff and defendant,

respectiVely. ‘Assume’ that settlement is costless.

(1) Calculate the expected Value of tr1al for
the pla1nt1ff and the expected cost of trial

for the defendant

(ii) Show that a settlement is always feasible
if the partles ‘have s'ymm'etr"i'c beliefs
- about the plaintiffs‘ probability of winning

at trial.-

(iii) Derive the trial condition and state the

implications resulting from it,

P.T.O.
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(iv) What is sclf-serving bias? How does it |

impact the bargaining between the pldlntlff

and the defendant?

(b) What are- the key differences between copyrlght

law and patent law? | (10+5)
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8. Write short notes on any two of the following :
(a) Untaken precaution approach in tort law

(b) Doctrine of frustration of purpose in contract law

“P.T.O.
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(¢) Inalienable rights in Property law (7.5%2)
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